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3 Write the complete solution as x, plus any mulitiple of s in the nullspace:

X+3y+3z=1
2x +6y+9z2=5
-x -3y +3z=3..

4 Find the complete solution (also called the general solution) to
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Under what condition on by, by, b3 is this system solvable? Include b as a fourth

column in elimination. Find all solutions when that condition holds:

x+2y—-2z=b;
2x + 5y —4z = by
4x + 9y — 8z = bs.

What conditions on by, b,, b3, by make each system solvable? Find x in that case:

1 2 by 1 2 3 by
2 4|[x1]_ | b2 2 4 6| _|b
25 [xz]‘“ b 2 5 7|76
39 ba 309 12|L7" bs

Show by elimination that (b;, b3, b3) is in the column space if b3 — 2b, + 4b; = 0.

1 3 1
A=|3 8 2.
2 40

What combination of the rows of A4 gives the zero row?

Which vectors (b3, bz, b3) are in the column space of A? Which combinations of the
rows of A give zero?

1 2 1
(@ A=1]2 6 3 (b) A=
0 2 5

[N
s -
0 o =



